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Approach Briefing & Descent Planning

After obtaining the most recent weather from ATIS, ASOS, or AWOS,
it’s recommended that pilots conduct an “Approach Briefing”. An
example is described below.

AIR ECHO ALPHA 51, LLC. IFR TRAINING

- Type of approach: "This will be a straight-in ILS approach to
Runway 33 at Northern Colorado Regional Airport."

J Frequencies: "ILS frequency is 109.5, CTAF is 122.7."
J Headings: "Final approach course is 331degrees."
1 Altitudes: "The DH for this approach is 5216"."

1 Rate of descent: "The required rate of descent is
approximately 500 fpm."

J Timing: Time form FAF to MAP @ 90kts GS is 3:16

1 Elevations: "Field elevation is 5,016; touchdown zone
elevation is 5,016."

1 Rwy length/ wind: "Runway 33 is 8,500ft. Expect a crosswind
from the east of 10kts"

1 Notes: "ADF or RADAR required; use KDEN altimeter
setting if local setting not received & adjust minimums; For inop
MALSR & KDEN altimeter adjust minimums."

J Missed approach: "Missed APP: Climb to 5,700 then climbing
right turn to 7,000 direct COLLIN and hold."

The rate of descent isn’t depicted on some approach plates.

Assuming a 3° glide slope the following “rules of thumb” can be used to
determine the approximate rate of descent:
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1. Multiply the groundspeed by 5.
With a groundspeed of 90kts (90 * 5 = 450fpm)
- Or -
2. Take half the groundspeed & add a zero to the end.
With a groundspeed of 90kts (90 / 2 = 45 add 0=
450fpm )
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CLIMB/DESCENT TABLE CLIMB/DESCENT TABLE 10042

IMSTRUMEMT TAKEOFF OR APPROACH PROCEDURE CHARTS

For planning purposes, increased accuracy and for glide slope angles RATE OF CLIMB/DESCENT TABLE
other than 3° the CLIMB/DESCENT table can be referenced. This table _ th. per min)
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Planning the descent from cruise is also important because of the need to 1 a9 | a9 [N v | e | see | nisz| 7 | aan | 1sse | 1ei0 | 17
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The following "Rule of Thumb” can be used to determine when to start
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1. Multiply the groundspeed by 5.
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With a groundspeed of 120kts (120 * 5 = 600fpm)
2. Chart CLUMB/DESCENT TABLE 1004z

With a groundspeed of 120kts @ 3° = 637fpm



